
The potential divider

1. Complete the following table showing the readings of a digital voltmeter of infinite resistance for the output voltage (V) for a series of different resistances and input voltages.


	Input voltage (Vo)
	R1 ()
	R2 ()
	Output voltage (V)

	12
	100 k
	200k
	

	6
	25 k
	10 k
	

	24
	5 k
	20 k
	

	6
	250
	100
	


2. Repeat question one but this time assume that the meter connected to measure the output voltage is an analogue meter with a resistance of 200 k.

	Input voltage (Vo)
	R1 ()
	R2 ()
	Output voltage (V)

	12
	100 k
	200k
	

	6
	25 k
	10 k
	

	24
	5 k
	20 k
	

	6
	250
	100
	



3. Now assume that resistor R1 is replaced by a thermistor T1 (NTC – one where the resistance decreases as the temperature rises).

If the values of the resistance R2 and the thermistor are equal at the start what will happen to the output potential difference (V) as the thermistor is cooled?

4. The thermistor is now replaced by an LDR. What happens to the output potential difference (V) as the light intensity falling on the LDR is increased?  

5. Assuming that the voltmeter used tom measure V in question 4 has an almost infinite resistance what happens to the current through R2 as the light intensity falling on the LDR is decreased?
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